Problems of the DayFPl[(] °°®

Use the humber cards to 2| Tim has this coin.
complete the addition.

{ |J {2} {6} {8} He.exchanges it for some I0p
BRI e

Now fry and complete the
multiplication.

> . How many 5p coins does he
o get? White




Problems of the DaypJt] °°®

Complete the missing humbers.

|28x|2=|28x|0+|28x[:]

|28x|2=|27x|2+[:]
|28x|2=|28x6x[:]

KN

Mark has €150 and Jan has €120
Mark gives Jan some money.

Jan now has twice as much as
Mark.

How much money did Mark give
Jan?

White

Rase



